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QUESTION 1

In Report Studio, why would an author use the Page Structure view?
A. To move objects in a report.

B. To change the underlying query.

C. To add a new page to the report.

D. To drive page layout using a query.

Correct Answer: A

QUESTION 2

In Report Studio, if an author adds a prompt to a report page containing a list, how can the author prevent an
automatcally generated prompt from appearing when the report runs?

A. Add a Statc Choice

B. Specify a Default Selecton

C. Set the Auto-Submit property to Yes
D. Change the Required property to No

Correct Answer: B

QUESTION 3

In Report Studio, a report contains several blocks and tables. To determine if there is sufcient space between objects,
what will show how the report looks when it is generated?

A. View a Print Preview.

B. Hide the boundary lines.

C. Unlock the report objects.

D. Open the Page Structure view.

Correct Answer: B

QUESTION 4

The following report was created in Report Studio using a relatonal package and shows revenue by sales rep, city, and
country.
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Caunky | Ciky | Skaff nare | Fevenus

France Lyan Danigl Turpin 722,373,684
Florence Markin $454,1350.04

Frédétic Samson +1,030,298, 52

Lyon $2,216,802.40

Paris Elizabeth Michel t1,131,160.54

Erviles Clatront $318,099,00

Etienne JaLwin §784,025,00

Paris 42,233,284.54

France 44,450,086.94
ERrmany Hamburg Elsbeth Wiesinger £1,268,132.22
Gunter Etler £1,573,979.96

Hamburg 42,842,112.18

Munchen Bidrn winlder 4 166,578,608

mMinchen 44,166,573.68

Germany $7.008,690.86

What will the report show if the author creates a detail flter for Revenue>500,000 and applies the flter

AFTER auto aggregaton?

A. Only reps who generated total revenue greater than 500,000.

B. Only cites that generated total revenue greater than 500,000.

C. Only countries that generated total revenue greater than 500,000.

D. Only reps who had individual sales transactons of greater than 500,000.

Correct Answer: A

QUESTION 5

In Report Studio, an author creates the following report:

Praoduck ling | Produck bype . Revenye

<Produck lines  <Praduck tvpe=  <Revenues
<Produck line>  =Product tvpe>= <Revenue:
<Produck line>  <Produck tvpe =  <Revenue:
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The author wants the report to show the total revenue generated by each Product line. How can the author accomplish
this?

A. In Query Explorer, change the Rollup Aggregate Functon property for the Revenue data item to Total.

B. In Query Explorer, change the Rollup Aggregate Functon property for the Product line data item to Total.
C. In the layout, group the Product line column and then add an aggregate row showing total revenue values.
D. In the layout, group the Product type column and then add an aggregate row showing total revenue values.

Correct Answer: C
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